1. Please circle the correct words to complete the sentences.

a) Compared to other methods of transport, the Hyperloop is...
i) more expensive i) faster iii) more basic

b) The Hyperloop is expected to allow people to travel from London to Manchester in...
i) 6-7 hours ii) 35 minutes iii) 18 minutes

¢) The Hyperloop is expected to move at...

i) 900mph ii) 760mph iii) 600mph

2. Answer the questions.

a) What were the two things that made Elon Musk design the Hyperloop?

b) What aim does Elon Musk have for the Hyperloop?

c) How can the Hyperloop help people who are sick or injured?

d) What does the writer mean by the phrase “if everything stays on track”?



